
(b) 

2r +y+T

iv 7.x2-2 

y -x+2 

(c) 

i ab+9 
i ab + ab + 3a 

i- b + 3a2b -5b 

) 2x+3 Gi) ii) 3ab (iv) 3a'b+ 5ab +3a 

(V) 2m + 3n (vi) x*+x (vii) m* +n (Vii) 2x +3x + 1 

(ix) xy+ (x) 34 

7. a. U 7RI AAR TA RAT tRT 

) 4x,x i) Sx; 7y (ii) 9,20 (iv) 2xy, 3xy? 

(V) 2xy, 3xz (vi) -7xz, 2x (vii) x, x (vii) x, 2 

(x) mn, 3nm () 4 
b 

abi, a, ay, y, 4xy, 7ab, -2x, 5y, xy, 3x,- abi, ab}, 3ab, xy, 40x 
- mn, 3mn, -nn, 2ab, 3y. 

12.7

fTR7= 6, UUR T 37= 12 7, U I =36 T4, 
T CT@U A7 = 41 U 7= 70 

afel 7a1 uOM rOUR 7 RI9RPE=41 +70 111 
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COTE UR = 2x 1 (:2 x6 = 12) 

To 3= 6x 6x6=36) 
UR CTUUA 3 = 6x +5 41 = 6 x6+5) 
O P = 10x+ 10 (TI, 70 = 10 x 6 + 10) 

i,AG 12x 2 (1, 70 = 12x6-2) 

7eoi 77 = 6x +F5 
O 77 = 10x + 10 

6x 10x; 5 10 TII ? 

6r+10x = (6+ 10)x = 16x ((5TT1 7 7 R TIRRJT RI TTIR RII FAT) 

IREMA 5 U 107 TO AIF 15 
io (6x +5) E (10x + 10) 7 7 TOR AISR 16x + 15 

(6x +5) + (10x + 10) = (6x + 10x) + (5 + 10) 
= (6+ 10)x + 15 
= 16x + 15 

FEE Ai 6x +5 7 (GR KI TTRN) 12x-2 I AA AIRA 5 (6x+5) + (12x- 2) = (6x + 12x)+5+ (-2) 
= (6 + 12)x +3 
= 18x +3 

R REO A TOT s 6x + 5, 10x + 10 6x + 5, 12x-27 I 
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So 16x +15 31fATS A 6 TG GN 16 x6+ 15 96 + 15 111 (uoR OuE T 77A iKR AIRF) 18x +3 3AdBIS A 6 TA aIB = 18 x 6+3 108+3 111 

O 10x + y T 2x +5 D 1 TR 

i (10Ox + y) +(2x +5) = (10x + 2x) +0) +5 
= (10 +2)x +y +5 
= 12x +y +5 

717 = 10x* 10 
C I = 6x +5 

7317 11R = (10x+10) - (6x +5) 
(10-6)x+(10-5) 
= 4x +5 

9o 4x +5 ACE 6 Ta IS 
4x6+ 5 = 29 

(10r + )-(2x+5) = (10-2)x +y+ (-5) 
= 8x +y-5 
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IRa81 4x +9 T4 3x - 1 RISI 
FET 418 TC3NTD 41-A ATA| 7 4x 3x 

A 9E (-1) 

siec DI AISF= 4x +9+3x- 1 
= (4x +3x) +9 +(-l1) 
= 7x +8 

BMTE8 2 3x +4y + 5 7x +2y +2 I1 
7A 18 IRP= 3x + 4y +5 +7x +2y +2 

3x+7x +4y +2y +5+2 

(T7a 17 3x 7x; 4y 
2y; 5 2 R T7 

= 10x + 6y +7 

HI 3 3xy + 4y + z 7xy + 2y +9 ( 7 yT 7xy; 4y2 qs 

TA 4T8 aF= 3xy + 4y? +z+ 7xy +2y +9 
= 3axy +7xy + 4+2y +z+9 
= 10xy + 6y +z +9 

CRTR I 9 

9 STTR f z) 

2x-4xy +7x+3x+ 6x -2xy-2x +3 

2x+3ax24xy-2xy+ 7x +6x-2x +3 

(2+3)x+ (4-2)xy + (7 +6-2)x +3 
5x-6xy + llx + 3 

HIRA5 7x+ 5 9I 2x +3 A 

TAT 4771& (7x +5)-(2x +3) 
= 7x +5-2x-3 

= (7x- 2x) + (5-3) 
5x +2 

HR6 6xy +7x + 57 R1 2xy-2x-y 1i 1 
(6xy + 7x + 5y) (2xy- 2x-y) 

6xy +7x + 5y-2xy +2x +y 
(6xy- 2xy) + (7x + 2x) + (5y + y) 

4xy +9x + 6y 
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Tpt-12.2 

() 2x + 3y-45 + 6y- 7x +5

() -2x++ 2r+4x+y 
(i) a-(2a- 3b) - b -(3b- 4a) 

iv) y+ 3axy + - 3xry +2xy-3'+5 
(2+3y+7)-(3y-8z + 1) (v) 

2. Ca118 

) 3x'y,-2xy, 7xy, 2ry 

(i) x+xy, 3xy +x, x- 1 

(i) 2x+3xy +,-3x + 5xy +2y, x- 8xy- 3 

(iv) 3x+ 4y, -7x +5y +2, 2x+ 5xy +7 

(v) 6xy, 7yx, 3xz, Syz 
(V1) 2x-+ 5,y + 3-x, +y+1 

(Vi) y+ xy + 1,-2xy + 3xy - 2, 3xry - Sxy +x 

(vii) 3y + yz, - +2yz +z2, z2 +1 

3. facH1 

) 5x -7xy 
(ii) 7xy1 2xy 

i) 2x+3xy+ 4y a 1--2xy +y 

(iv) 5xy +xy + 74 91-2xy+2y + 5 

(V) 2m+3n 2m -3m + 1 

(vi) 6pq-p-4A A 2pq t p + q 

(vi) 2p-74 1 p?+1 

(vii) 3x-2x+ 13 1-4x+ 5x+3

4. T1 Trfq CISRPEI 512 +2x+1, 91 11x+5x+7R TTI 1f GAsTI 

5. 7x +3y+ 1 1RA 2x+4y + 74 3I A R 

206 



ToR AOT 4 7 RT 

1C f 2 ATR IRC 

7. 3x3 +2r+| y'- 4x- 24 IR 1 2x+y+7x t 3 Rai 

8. 212+7x 3x- 737aB 1 212-x TE ? +6x +277uB fArat 

12.8 attqdta apa TA A 

HR x= 433tA 7x-3 E+5x +93 N 

7x-3 7 x 4-3 = 28-3 25 

X=47 TA 

+5x + 19 (4)+5 x 4 +9 45 
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